Biochemistry

H % 37 (10%, 5% for each question)

1. ) An enzyme whose activity is affected by the binding of effector
moleculesis called a/an:

(A) synthase (B) dlosteric enzyme (C) isozyme (D) kinase

2. ( ) Which substance is a product of glycolysis, a precursor of
gluconeogenesis and a precursor of the citric acid cycle?
(A) Glucose (B) CoenzymeA (C) Pyruvate (D) ATP

i %A
1. Define the following terms (10%, 5% for each term).
(A) hydrophobic effect; (B) isozymes,

2. Describe briefly three types of interactions which stabilize the tertiary structure of
aprotein. (15%)

3. Usethe chemiosmotic theory to briefly describe how ATPis synthesized using
the free energy generated during el ectron transport. (15%)
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